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60,185,427 56,931,750 3,253,677
1,340,519 1,296,962 43,557
2: 1,340,519 1,296,962 43,557
2- 991,170 970,372 20,798
12,594 9,589 3,005
(1220-1223-120-202-01)
75,800 * 2 *6 *6 =5,458
5,458,000 - 3,593,000 = 1,865
75,800 * 1 *4 *5 =1,516
1,516,000 - 998,000 = 518
75,800 * 4 *2 *3 =1,820
1,820,000 - 1,198,000 = 622
50,187 47,390 2,797
(1220-1223-120-202-01)
75,800 * 4 *4 *6 =7,277
7,277,000 - 4,791,000 = 2,486
75,800 * 4 *3 *1 =910
910,000 - 599,000 = 311




)
62,498 54,469 8,029
(1220-1223-120-202-01)
75,800 * 5 * 31 *2 = 23,498
23,498,000 - 15,469,000 = 8,029
613,414 609,141 4,273
(1220-1223-120-201-01)
- 70,000 * 4 *2 = 560
(1220-1223-120-202-01)
75,800 * 6 *3 *5 =6,822
6,822,000 - 4,491,000 = 2,331
75,800 * 2 *3 *4 =1,820
1,820,000 - 1,198,000 = 622
(1220-1223-120-301-09)
65,000 * 3 * 12 = 2,340
2,340,000 - 1,676,000 = 664
(40,000 * 3 * 4 )+(44,000 * 3 *8 ) = 1,536
1,536,000 - 1,440,000 = 96
160,072 157,378 2,694

(1220-1223-120-202-01)




75,800 * 2 * 4 *9Q =5458
5,458,000 - 3,593,000 = 1,865
75,800 * 2 *5 *2 =1,516
1,516,000 - 998,000 = 518
75,800 * 2 *3 *2 =010
910,000 - 599,000 = 311
2 349,349 326,590 22,759
12,129 7,985 4,144
(1220-1223-120-202-01)
75,800 * 2 *3 *6 =2,729
2,729,000 - 1,797,000 = 932
75,800 * 1 * 30 *2 = 4,548
4,548,000 - 2,994,000 = 1,554
75,800 * 2 *3 *4 =1,820
1,820,000 - 1,198,000 = 622
75,800 * 4 _*5 __*2 = 3032




)
3,032,000 - 1,996,000 = 1,036
Cyber 319,070 300,455 18,615
(1220-1223-120-201-01)
= 16,000
(1220-1223-120-202-01)
75,800 * 3 *5 *3 =3,411
3,411,000 - 2,246,000 = 1,165
75,800 * 2 *7 *4 = 4,245
4,245,000 - 2,795,000 = 1,450
98,178 98,058 120
(1220-1223-120-203-04)
(350,000 + 5,000 * 21 ) * 12 = 5,460
5,460,000 - 5,340,000 = 120
58,746,730 55,536,730 3,210,000
(5310-5311-420-308-02)
2006 = 42,561,930
42,561,930,000 - 39,351,930,000 = 3,210,000




